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1) The main steps to be done by a first aider in an emergency situation is
3uIdDIciiol -erfer 3 yreIfirn Suaredl $RI b Sirol drel JIRT D 3.

[Question ID = 412]

1. Make the area safe / giq @ JRfém some [Option ID = 1645]

2. Evaluate the injured patients condition / @wier ai8isit &t srazen @1 Jcaice B3 [Option ID = 1646]
3. Seek help / s1cg atisren [Option ID = 1647]

4. All of these / 2 Jsft [Option ID = 1648]

Correct Answer :-
e All of these / & anft [Option ID = 1648]

2) All of the following are aims of first aid except

forgarfeiRaa 3 21 asft grerfdres SuarR @ 329 3, Rara

[Question ID = 413]

1. To preserve life / Sffaet garet @ fere [Option ID = 1649]

2. To prevent injury / dic @ Awal @ fere [Option ID = 1650]

3. To promote recovery / Yol:3arel @l d@Idl gol @ fere [Option ID = 1651]

4. To help to ensure safe transportation / JRiér uf¥aser Jforfa ool 3 AGs Dl @ few [Option ID = 1652]

Correct Answer :-
e To prevent injury / dic @t Awa @ fere [Option ID = 1650]

3) A person who is on indwelling catheter expresses her need to urinate. Which of the following nursing intervention needs
to be done for the patient

U Ifth Sl 3ieT: TARMA B WR 3, a8 g Dol bl AMAYADA RITb Bkl 3 Aol B ferw forafeRaa 3 A ®ler a1 sl fer szagiu w2t &bt
STAQADT 3

[Question ID = 414]

1. Take her to rest room / 33 faomt @et 3 <t sme [Option ID = 1653]

2. Check the patency of the catheter / ©3cz &t Jsolsficiar &t sifa w3 [Option ID = 1654]

3. Reassure that she cannot void / smaza @3 o5 as fored o8l 8t At [Option ID = 1655]

4. Collect specimen for urinalysis / #gfiecuvr @ fére oot cf [Option ID = 1656]

Correct Answer :-
e Check the patency of the catheter / ©dez I Asotolicir i sifa @2 [Option ID = 1654]

4) A newborn that is above the 90th percentile on the intrauterine growth curve is termed
siqefstiordt faerRT aaq uz 90d yferoraem A Uz @ siasid f919] I @al SIrdr &

[Question ID = 415]

Post term baby / grdr= forg] [Option ID = 1657]

Large for gestational age / smafafer smg @ fere gst [Option ID = 1658]

Small for gestational age / swiwiciier g @ fere sler [Option ID = 1659]

Preterm baby / smufsuaa forg] [Option ID = 1660]

A W N -

Correct Answer :-

e |arge for gestational age / smifafer amg @ fére @st [Option ID = 1658]

5) The nurse is administering Inj. Ceftriaxone 1.5 g intravenously for bacterial meningitis patient. One vial contains 1 g.
She has dissolved medicine in two vials of Inj. Ceftriaxone, each vial with 10 ml normal saline. How much volume she needs
to administer?

ord Sadifyera dfoismsiea Al & g Eoiaeret AucrRIaHol 1.5 3T @I ia:fART Yoriet @z 36 2 uw ofioh & 1 spar 3 3HGI SSaereT
AucrIaAler Gt Q) RRRI 3 gar d@ia & 3, yA® ofielt 3 10 Rrcliclicy AmIe:T Acisor 3 3A yonlid sl @ fo1g bl gy &b sragamar 3?
[Question ID = 416]

1. 20 ml / 20 Brcft [Option ID = 1661]

2. 15 ml / 15 firch [Option ID = 1662]

3. 10 ml / 10 fireft [Option ID = 1663]

4. 5ml /5 frcht [Option ID = 1664]

Correct Answer :-

e 15 ml / 15 ficht [Option ID = 1662]

6) Which is the solution for spillage of blood on the floor?
Bof Uz 376 @ Beldsol DI IURT Dlol AT 37

[Question ID = 417]



2% sodium hypochloride / 2% 3iif$ew1 srulacREs [Option ID = 1665]
Phenol mixed / fiaiter fBifgfa [Option ID = 1666]

Cidex / B33a=1 [Option ID = 1667]

Formaline / wiaiferor [Option ID = 1668]

AW N =

Correct Answer :-
® 2% sodium hypochloride / 2% i1 srdiacRss [Option ID = 1665]

7) Tightness of the sternocleidomastoid muscle, resulting in the child’s head being tilted to one side results in
FeollaasiiReres Ul bt warae, Frid ulvERaRu o ©f BR v 0w o i 3, Rrid ulvmrasa i 1 S
[Question ID = 418]

1. Blounts disease / sciiczt st [Option ID = 1669]

2. Torticollis / steemdsr [Option ID = 1670]

3. Botulinism / digefiforsa [Option ID = 1671]

4. Plagiocephaly / wenfSridwrct [Option ID = 1672]

Correct Answer :-
e Torticollis / sroemedsr [Option ID = 1670]

8) The following syndrome is triggered by the use of salicylates, results in brain swelling, and liver failure
forraiferRaa Rigier o1 Afef¥tcict o IuRIeT A R9R e siran 3, foRId ulvieRasu al¥ase &t st 3R adma &l fwsearn aidl 3
[Question ID = 419]

Botulism / digfersar [Option ID = 1673]

Reye syndrome / ¥ Bigar [Option ID = 1674]

Down syndrome / sat Bigier [Option ID = 1675]

Inborn errors of metabolism / @RmuaR! 6t Steetsie gfeeri [Option ID = 1676]

A W N -

Correct Answer :-
® Reye syndrome / ¥ Rigiar [Option ID = 1674]
9) A Newborn is meconium stained, meconium present in the mouth, No breathing, heart rate is 80 beats per minute.
Immediate management will be
STasird f3r9] ABIorRI A Ieiia 3, Fe A ADIform AlSlg 3, BIE AR odl, &a aifer Yfer froic 80 ersaol 3 AcdIcT Yderel TRl JP1
[Question ID = 420]

. Intubation / sczy@eret [Option ID = 1677]

. Cardiopulmonary resuscitation / egugilr gersifast [Option ID = 1678]

. Warmth and suction / swff sz maerer [Option ID = 1679]

. Oxygen administration / siia=fisior gemior [Option ID = 1680]

A W N -

Correct Answer :-
e Warmth and suction / swff iz et [Option ID = 1679]

10) Deficiency of thiamine results in all of the following except
forgotferR3aea 21sft 31 frmamsor ufyvmel 6 ot Al 3, Rrarr

[Question ID = 421]

1. Peripheral neuritis / uf¥tfrr sefsfear [Option ID = 1681]

2. Stunted growth / srasg fdwr [Option ID = 1682]

3. Cardiac beriberi / @if$es &3t [Option ID = 1683]
4. Infantile beriberi / forg] 333t [Option ID = 1684]

Correct Answer :-
e Stunted growth / srasg famrt [Option ID = 1682]
11) The functions of proteins are all of the following except
Qo @ DRI forroifelRaa sht 3, Rrarr
[Question ID = 422]

1. Body building / dist fafésst [Option ID = 1685]

2. Repair and maintenance of body tissues / 9Btz 3wt 6t a9 3iiz 3z [Option ID = 1686]
3. Synthesis of antibodies / vdidist @1 isa3wur [Option ID = 1687]

4. Prevent synthesis of coagulation factors / Serdae wr®l @ iccur ot Amon [Option ID = 1688]

Correct Answer :-
e Prevent synthesis of coagulation factors / Swire ®R®I @ ASwoT DI Awar [Option ID = 1688]

12) The volume of air that moves in and out with each breath is called
YD ATH B AT 362 3iI2 a162 Sl arcil sar bl Ay DI Bal Sl &

[Question ID = 423]

. Residual volume / smafsree @ [Option ID = 1689]

. Tidal volume / eser &t amar [Option ID = 1690]

. Expiratory reserve volume / ea3ior 3mféia aiqr [Option ID = 1691]

. Inspiratory reserve volume / foreazter f¥sid airer [Option ID = 1692]

A W N -

Correct Answer :-
e Tidal volume / ersset &t aeg [Option ID = 1690]



13) The functions of the fallopian tube are all of the following except
BAlftRIel g @ @RI forrarfeilRaa it 3, RBarn

[Question ID = 424]

. Fertilization / fordaer [Option ID = 1693]

. Transportation of gametes / goarapt @1 uf¥asar [Option ID = 1694]

. Nurturing the zygote / Jparerst o1 diwur [Option ID = 1695]

. Implantation of zygote / Yoarerst @1 grariuur [Option ID = 1696]

AW N -

Correct Answer :-
e |mplantation of zygote / oot @1 ymRiuur [Option ID = 1696]

14) The causes of fetal tachycardia are all of the following except
yu1 fégecaar & ®rul fogafalRaa 1sft &, Rar

[Question ID = 425]

. Maternal or fetal anemia / aq = ajur woflfdrn [Option ID = 1697]

. Maternal or fetal infection / a1ty = 8jur 3icgeror [Option ID = 1698]

. Fetal compromise / sjur Jersiiar [Option ID = 1699]

. Fetal hypoxia and acidosis / spur ssulfd=rn 3iiz eRsiRrI [Option ID = 1700]

AW N -

Correct Answer :-
e Fetal hypoxia and acidosis / spur ssdlidRrn siiz eREIRRL [Option ID = 1700]

15) First trimester abortion is done by using all of the following methods except
ugdl a3 siura o1 fosfaRaa eft adieml o1 SuRNeT wid s sirar 3, Rrarr
[Question ID = 426]

. Manual vacuum aspiration / dgsret daper vRuzerer [Option ID = 1701]

. Suction evacuation / 3t formrft [Option ID = 1702]

. Dilatation and evacuation / wera siiz forprft [Option ID = 1703]

. Hysterotomy / f&x21cfstt [Option ID = 1704]

A W N -

Correct Answer :-
e Hysterotomy / f&33cieH [Option ID = 1704]
16) During pregnancy a brownish black pigmented line in the midline from the xiphisternum to the symphysis pubis is
formed this line is called
snfazen & Sikrel Rrblcsta A RIFwRRT wfert & dia & sewr dzar 3 4l orell 1 3ar gorcll 3 531 3ar @ oot war sirar &
[Question ID = 427]
. Striae gravidarum / 3¢t 3)fes2er [Option ID = 1705]
Linea nigra / fiforn fosg [Option ID = 1706]
Caput medusa / @ue digzn [Option ID = 1707]
Striae albicans / s eféad [Option ID = 1708]

N

A w N

Correct Answer :-
e Striae gravidarum / ¥ s)fasza [Option ID = 1705]

17) The fetal membrane that does not have any blood supply, nerve supply or any lymphatic supply is
o1 Ricell R ®1$ 37p &t smgfef, dfeyast smyfel ar o1 erefier smyfef o1&t 3Kt 3, as &

[Question ID = 428]

. Chorion / spfate [Option ID = 1709]

. Amnion / spmazur [Option ID = 1710]

. Chorion and Amnion / smsfase siiz spumazur [Option ID = 1711]

. None of these / sowi 31 @IS ot [Option ID = 1712]

A W N -

Correct Answer :-
e Amnion / spmarur [Option ID = 1710]

18) The causes of hyperparathyroidism includes all the following except
FEURIRIIRREESH & ®Rull # forga 21eft onfirer 3, RBarr

[Question ID = 429]

Hypercalcemia / sifedfeormerepar [Option ID = 1713]

Chronic renal failure / @ifors Horet forftagerar [Option ID = 1714]

Hyperphosphatemia / ssuzwrRwefirn [Option ID = 1715]

Hypolipidemia / ssuiferftufsarn [Option ID = 1716]

A wWw N =

Correct Answer :-
e Hypolipidemia / ssuiferfufsarn [Option ID = 1716]
19) Syphilis is caused by
Raftsfert forvar @ PrRuI drar 3
[Question ID = 430]
. Staphylococcus / ¥ftseitepiasat [Option ID = 1717]
. Streptococcus / ¥gucimiaa [Option ID = 1718]

. Treponema pallidum / Sutorar dfersa [Option ID = 1719]
. None of these / soti 3t @IS o8 [Option ID = 1720]

A w N =



Correct Answer :-
e Treponema pallidum / Zulean dfersat [Option ID = 1719]

20) Vaginal spotting or bleeding between menses is called
R1p et O i Alfor Fdifést ar FwpYra oI war Siar 8
[Question ID = 431]

Premenstrual syndrome / gperda [Option ID = 1721]

Menorrhagia / si=meda [Option ID = 1722]

Metrorrhagia / 3ygz [Option ID = 1723]

Dysmenorrhea / @terda [Option ID = 1724]

A w N =

Correct Answer :-
e Metrorrhagia / ¥@ygz [Option ID = 1723]

21) Dilatation and varicosity of the pampiniform plexus within the scrotum is called
sismlor @ sfiar Ufduforpist tarazeT &b bama iz srubifer @1 foreor war simar 3

[Question ID = 432]

1. Hydrocele / sspRier [Option ID = 1725]

2. Hematocele / gacRiet [Option ID = 1726]

3. Spermatocele / 3wdidr¥cr [Option ID = 1727]

4. Varicocele / doRier [Option ID = 1728]

Correct Answer :-
e Varicocele / d$laRyer [Option ID = 1728]

22) A steroid hormone that helps prepare the endometrium to receive and implant the fertilized ovum is
F&3Ms srild Sl fordfRia f3a I i @ol sii JrIRIfUA @20l @ feTu ST Bl TR @20l 3 AGS Bl 3, I8 &
[Question ID = 433]

1. Oestrogen / wxqsior [Option ID = 1729]

2. Progesterone / giaie3ia [Option ID = 1730]

3. Oxytocin / siia=ftai3er [Option ID = 1731]

4. Prolactin / gieiférest [Option ID = 1732]

Correct Answer :-
® Progesterone / goreder [Option ID = 1730]

23) A adult patient is categorised as oliguric acute renal failure when is urine output is

______ Blol U= b R sl Ashl Bl sfifers gy varge Sotel BeAR @ U # geffaa g strar 3
[Question ID = 434]

Less than 200 ml per day / gfer f&er 200 fircficiicz 3 @ar [Option ID = 1733]

Less than 400 ml per day / yfer f&er 400 fircficiiez 3 @a1 [Option ID = 1734]

Less than 500 ml per day / yfet f&or 500 freficiics 3t @ar [Option ID = 1735]

Less than 600 ml per day / yfer f&er 600 fircficiicz 3 @war [Option ID = 1736]

AN w N -

Correct Answer :-
® |ess than 400 ml per day / yfer f&er 400 fircficiicz 3 @1 [Option ID = 1734]

24) Hyperactive bowel sounds is called
srsureferea siiq eaforil @l forgst sl Sirar 3
[Question ID = 435]

Tenesmus / Boat [Option ID = 1737]
Borborygmus / dreeeft [Option ID = 1738]
Hematochezia / 3ancrafsrn [Option ID = 1739]
Hematemesis / ¥ &t 3¢t [Option ID = 1740]

A WN -

Correct Answer :-

® Borborygmus / aadisrEft [Option ID = 1738]

25) Excessive sleepiness is called

IfID gl B Dal Sl &

[Question ID = 436]

1. Insomnia / siforgr [Option ID = 1741]

2. Narcolepsy / asmofereft [Option ID = 1742]

3. Somnambulism / forgrapur [Option ID = 1743]

4. None of these / soii 31 @IS orét [Option ID = 1744]

Correct Answer :-

e Narcolepsy / siofer=ft [Option ID = 1742]

26) Pain as a result of inflammation is caused by the production of all of these except
IHolol D URUIIATARU &6 Sol AT D IeUlGel d PRYI Bidl 3, RIarx

[Question ID = 437]



. Histamine / f&zaifder [Option ID = 1745]

. Bradykinin / §gifsferer [Option ID = 1746]

. Prostaglandnin / grzeweisial [Option ID = 1747]
. Melatonin / demdforer [Option ID = 1748]

A W N -

Correct Answer :-
e Melatonin / dremciforer [Option ID = 1748]

27) Opening of a wound with exposure of internal organs is called
sriaf¥e 3iell > IIGIARUT B AT Td> H1d D IeTol Dl fordor war sirar &
[Question ID = 438]

1. Dehiscence / Jgear [Option ID = 1749]

2. Evisceration / siast formicten [Option ID = 1750]

3. Keloid formation / @ilss st [Option ID = 1751]

4. Eschar / wer [Option ID = 1752]

Correct Answer :-
e Evisceration / siast forrcton [Option ID = 1750]

28) Surgery performed to estimate the extent of a disease or confirmation of a diagnosis is called
fop2tt ot &t 2fion & forcror I gfte @ fere & o1 Asist @Y oot war sirar &

[Question ID = 439]

. Palliative / 3uemm [Option ID = 1753]

Diagnostic / dleiferes [Option ID = 1754]

Exploratory / Jm@eaoft [Option ID = 1755]

Curative / Jsiferara [Option ID = 1756]

N

A wN

Correct Answer :-
e Exploratory / Jwmasft [Option ID = 1755]

29) Inj potassium has to be administered as

ORfIRIAI $aIaeret dY forgor @ u & yenfra fpan Sirorr 3
[Question ID = 440]

Intramuscular injection / siatiefir sSraeret [Option ID = 1757]
Intravenous bolus / sia:fsrr dicrr [Option ID = 1758]

Intradermal / siacddir [Option ID = 1759]

Intravenous with fluids / azct ucreif @ Jrer sia:forr [Option ID = 1760]

A W N -

Correct Answer :-
e |Intravenous with fluids / awet ucrell & mer sia:f9rr [Option ID = 1760]

30) The most sensitive indicator of decreased fluid volume is
DH ¢d ALl DI AR Adcoroliel IAdad 3

[Question ID = 441]

. Hypertension / 3=a ¥@am [Option ID = 1761]

. Hypotension / srca 3a5-ama [Option ID = 1762]

. Postural hypotension / dixgzet srsuiceret [Option ID = 1763]

. Tachycardia / f8mgc=er [Option ID = 1764]

A wWwN =

Correct Answer :-
e Postural hypotension / digzer ssuicerst [Option ID = 1763]
31) When the water loss is greater than the electrolyte loss, which of the following extracellular fluid volume deficit occurs
SId urefl & s1for sciacicise aifol 3 3fr Bicdl 3, dl forgat 3 A Blol A d1& azel ucrel b Ay A Bl 3ict 3
[Question ID = 442]
Iso -osmolar / sms2i -3lzacrz [Option ID = 1765]
Hyperosmolar / sswedier [Option ID = 1766]
Hypotonic / sruicifers [Option ID = 1767]
None of these / sowi 31 @IS a8 [Option ID = 1768]

A w N =

Correct Answer :-
e Hyperosmolar / ssuwedier [Option ID = 1766]

32) Fluids are normally found in all of the following spaces except
azct ucref Arre=T wu A forgorferRad st Femoil 3 ure s 3, Rarr
[Question ID = 443]

. Intravascular / scraraer [Option ID = 1769]

. Intracellular / sma:®ifSie [Option ID = 1770]

1

2

3. Interstitial / f&fger [Option ID = 1771]

4. Intradermal / siacddkr [Option ID = 1772]

Correct Answer :-
e |ntradermal / siacddr [Option ID = 1772]



33) The one which contains blueprint for all the proteins in the body is
a8 a¥q PRI 9RR @ Wil Yiélall o1 sqftjc dlar 3, a6 &

[Question ID = 444]

Cytoplasm / @ifstt gear [Option ID = 1773]

DNA / Sivere [Option ID = 1774]

Plasma membrane / twerrsar freeft [Option ID = 1775]

Nuclear envelope / wemy] weraera [Option ID = 1776]

A w N =

Correct Answer :-
® DNA / Sluate [Option ID = 1774]

34) The agent used to stabilize oral polio vaccine is

JiiRaem difern da=ficl @I e w0l @ fore s i Siel aren ooic 3
[Question ID = 445]

. Sodium chloride / 3iif$e1 aeiRrss [Option ID = 1777]

. Potassium chloride / drfsrm aeiRiss [Option ID = 1778]

. Magnesium chloride / dissfifdrmr aeiRss [Option ID = 1779]

. Sodium sulphate / 2iif3er srewe [Option ID = 1780]

A wWw N =

Correct Answer :-
e Magnesium chloride / disofifSrmr delRiss [Option ID = 1779]

35) The self administration of drugs by patients themselves without recourse to hospital is called
srudrd 3 ol @ foon APRN SRI Fa=i & carsil & Fa-YoIIsl ®I dal SIIdr 3

[Question ID = 446]

1. DOTS / sicat [Option ID = 1781]

2. Domiciliary treatment / 3uaricaa 3uar [Option ID = 1782]

3. Short course treatment / eg smafer 3uar [Option ID = 1783]

4. None of these / sowi 3 @I$ ataf [Option ID = 1784]

Correct Answer :-
e Domiciliary treatment / 3uaricad uar [Option ID = 1782]

36) Any loss or abnormality of psychological, physiological or anatomical structure and function is called
Follasfore, oy A omdifecs Fizaet 3iie BRI @ fpeil ot GIaaIel AT IRITATGRIAT B B3l ST 3

[Question ID = 447]

Disability / faaetisrar [Option ID = 1785]

Handicap / smstar [Option ID = 1786]

Impairment / aifer [Option ID = 1787]

Rehabilitation / gerafar [Option ID = 1788]

N wN -

Correct Answer :-
e |mpairment / aifer [Option ID = 1787]

37) Action which halts the progress of a disease at its incipient stage and prevents complications is called
ag fpzn st fp=it dlenst & gerfer o1 33 yritis @Rt 3 Al 3 sl sifecransii ot Aawdl 8, 33 sl ST 3

[Question ID = 448]

. Primordial prevention / 3iiferes Jasenar [Option ID = 1789]

. Primary prevention / grerfde Aaemt [Option ID = 1790]

. Secondary prevention / ameifdip Aapenar [Option ID = 1791]

. Tertiary prevention / qdie et [Option ID = 1792]

A WN -

Correct Answer :-
e Secondary prevention / areafia Aaemsr [Option ID = 1791]

38) The ability of an infectious agent to invade and multiply in a host is called
Bl 3 3T 1R PN Bl D e AR Tsic &t gErar ot e war siar 3
[Question ID = 449]

1. virulence / fadiemuat [Option ID = 1793]

2. Pathogenicity / Jswsioiaar [Option ID = 1794]

3. Infectivity / 3iguerar [Option ID = 1795]

4. Pathogenesis / Jsrsioer [Option ID = 1796]

Correct Answer :-
e virulence / faffemuer [Option ID = 1793]

39) Which of the following diseases are related to coronavirus?
forgotferRaa & A dlot 2l St dRIcarRA A AdfRT 37

[Question ID = 450]

. MERS / wamear [Option ID = 1797]

. SARS / =i [Option ID = 1798]

. Both MERS and SARS / wsamear sl amf [Option ID = 1799]

. Neither MERS nor SARS / o1 & w#gamet 3iiR of 8l Arf [Option ID = 1800]

AW N -



Correct Answer :-
e Both MERS and SARS / wigsmeuat sl amf [Option ID = 1799]

40) Skin rashes are important clinical features of-
a1 WR I forel @ Ascayyl olciform cigrur 3-
[Question ID = 451]

. Tuberculosis / grx Je1 [Option ID = 1801]

. AIDS / usa [Option ID = 1802]

. Measles / xw=rr [Option ID = 1803]

. Tetanus / egdsr [Option ID = 1804]

AW N -

Correct Answer :-
® Measles / et [Option ID = 1803]

41) Causative organism of chickenpox is

B AT DI DRD Sid 3

[Question ID = 452]

. Varicella Zoster Virus / af¥3en siiee: fammy [Option ID = 1805]
. Paramyxo Virus / @epmsaei arret [Option ID = 1806]

. Herpes Simplex Virus / swf Ritcia=1 faurg [Option ID = 1807]
. Variola Virus / afsiren arrat [Option ID = 1808]

N
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Correct Answer :-
® Varicella Zoster Virus / d@f3¥er siee? fauryy [Option ID = 1805]

42) From India, who has achieved top rank in the Fortune's ‘World's 50 Greatest Leaders’' 2021?
Biczfor @ 'faea @ 50 srsrercad oransil 2021 3 siRa 6l 3z A ot ofid Ferrer gra fpar 37

[Question ID = 453]

. Adar Poonawalla / sier gerrarent [Option ID = 1809]

. Mukesh Ambani / gjaer sfareft [Option ID = 1810]

. Narendra Modi / si3g a#xdt [Option ID = 1811]

. Randeep Guleria / Juiciu spcifyen [Option ID = 1812]

A W N -

Correct Answer :-

e Adar Poonawalla / sierR getrarerr [Option ID = 1809]

43) While measuring the central venous pressure, the zero point of the manometer can be kept at the level of right atrium
by placing at

DERI FORTURS g/ &l AU AR, FHollatic: B 9o fig ol forgel UR R B gRY sifeic & I U= T Sl ADT 3

[Question ID = 454]

1. Mid axillary line / atex srsfier 3 [Option ID = 1813]

2. Posterior axillary line / w2 srefier 32 [Option ID = 1814]

3. Shoulder level / @a @1 3= [Option ID = 1815]
4. Anterior axillary level / 3m] stefier a2 [Option ID = 1816]

Correct Answer :-
e Mid axillary line / #e=r sigfier 32ar [Option ID = 1813]

44) Ensuring adequate supply of medicines and equipments at any point of time to avoid hindrances in patient care is
called as

2Afl DI Sxanret 3 dresii A Felol @ fere vl off e carsil siie Sumwll b vt smyfe Hforf2aa wol @I sl Siidr 3

[Question ID = 455]

1. Inventory control / 3yt foriqur [Option ID = 1817]

2. Supervision / widgmr [Option ID = 1818]

3. Staffing / sew [Option ID = 1819]

4. Leadership / oigea [Option ID = 1820]

Correct Answer :-
e Inventory control / it foriqur [Option ID = 1817]

45) The First pair of teeth to erupt in children is
i 3 AGR] Usdl 981R 3iTol diell gid bl SISt 8
[Question ID = 456]

. Cuspids / ®Rusgt [Option ID = 1821]

. Incisors / @oae [Option ID = 1822]

. Molars / @i [Option ID = 1823]

. Canines / 3go1@ [Option ID = 1824]

A W N -

Correct Answer :-

® Incisors / @oam [Option ID = 1822]

46) Which of the following position is used to assess the inguinal hernia?
dgiur sfoferr @1 3iasciol 2ol @ feru forgaifaiRaa af A fopar R-erfer @1 Su=NeT fdben Sirar 37



[Question ID = 457]

Prone / dear &t Berfer [Option ID = 1825]

Left lateral / arri urd [Option ID = 1826]
Lithotomy / Fgrert sweasiaur [Option ID = 1827]
Standing / x1$ got &t RBafer [Option ID = 1828]

AN wN -

Correct Answer :-
e Standing / =3 3o &1 Reafer [Option ID = 1828]

47) The job responsibility of a chief nursing officer is all of the following except
=1 oif¥t 3iferprdt bl ciipdl bl Rreder forgarfeiRaa 3 21 st 3, Rrarr:

[Question ID = 458]

Administering nursing service / sif¥fr 3ar @1 iarctor [Option ID = 1829]

Delegating authority and responsibility / siférpre siiz fS@aiert 2iuen [Option ID = 1830]

Provide bed side nursing care / &5 rss alf3fer Sxastrel Yaiol @2t [Option ID = 1831]

Develop policies for the institute / iveme & ferw sfiferr R @2 [Option ID = 1832]

A W N -

Correct Answer :-
e Provide bed side nursing care / I 3155 aif3fer Sxasire ygrol w2an [Option ID = 1831]

48) While assessing pulse which of the following has to be checked
SIISI I 3MIdclol B AR forFolfeiBad 3 A fpadi sifa w2l dicll 3
[Question ID = 459]

Rate / gz [Option ID = 1833]

Strength / arsa [Option ID = 1834]

Rhythm / crr [Option ID = 1835]

All of these / 3 Jisft [Option ID = 1836]

A WN -

Correct Answer :-
o All of these / & asft [Option ID = 1836]

49) An employee should receive orders from one superior only is based on which principle of administration
U Dfardl @l ddct af¥ss A IS YA Dol AT, YoIRiel @ v Rigia uz smenfya 3

[Question ID = 460]

Hierarchy / ugrgrast [Option ID = 1837]

Unity of command / snger <t wasar [Option ID = 1838]

Delegation of authority / siférprRi @1 fdddiazur [Option ID = 1839]

Espirit de corps / uf3ufde st wiwf [Option ID = 1840]

AW N -

Correct Answer :-
e Unity of command / 3nger &t easar [Option ID = 1838]

50) The primary aim of first aid in a person with bleeding wound is
DI 8Id dIcl cAafep 3 Yrefdie suar or g 329 3

[Question ID = 461]

Inform family / uf¥ar @l R wen [Option ID = 1841]

To arrest bleeding / ¥ @t Apat B fere [Option ID = 1842]

Inform police / gfert o Jjfera w2en [Option ID = 1843]

Take to hospital / srudret  sme [Option ID = 1844]

A W N -

Correct Answer :-
e To arrest bleeding / 33ma @ JAwar @ fere [Option ID = 1842]

51) The chest compression ventilation ratio for CPR in a new born is
sIasird 919 3 ATdisme @ fere oIl Adisa dieciore srequra 8

[Question ID = 462]

1. 30:2 / 30:2 [Option ID = 1845]

2. 15:2 / 15:2 [Option ID = 1846]

3. 10:2 / 10:2 [Option ID = 1847]

4. 3:1/ 3:1 [Option ID = 1848]

Correct Answer :-
e 3:1/ 3:1 [Option ID = 1848]

52) The activities individuals undertake in promoting their own health preventing disease or restoring own health is called
ag DRI Sl caftp Ul IRl & FARA DI GGIAl Gol, HIHART DI ADol AT TR D IARLA DI Yol: FATUA Dol D o180 Der 3, 3} Dal Sl &
[Question ID = 463]

Self care / Fa-gasmer [Option ID = 1849]

Family care / wif¥aifsa xasirer [Option ID = 1850]

Community care / eI Sxste [Option ID = 1851]

State care / sm=en Sxme [Option ID = 1852]

A w N =

Correct Answer :-
e Self care / Fa-casmet [Option ID = 1849]



53) The route through which the infectious agent enters the host is called
3121 a1t A ADId Coic diua d A9l wdr 3 3A el SIIdl 3

[Question ID = 464]

1. Portal of exit / fomlar grz [Option ID = 1853]

2. Portal of entry / gaseigre [Option ID = 1854]

3. Site of election / @rrar Zeret [Option ID = 1855]

4. Transmission route / 3iazur st [Option ID = 1856]

Correct Answer :-
e Portal of entry / gaeigr [Option ID = 1854]

54) Five books are lying in a pile. C is lying on D, and E is under K, D is lying above K and F is lying under E. which bookis
lying at the bottom?
ufa fpad ez AUt & C, D DS AR E, KBS oliag, D, K Fuz 2 3iiz F, E & oficx &, A« ofid wiat 2l fdbama 3?7
[Question ID = 465]
F / F [Option ID = 1857]
C / C [Option ID = 1858]
K / K [Option ID = 1859]
E / E [Option ID = 1860]

A W N -

Correct Answer :-

e F /F [Option ID = 1857]

55) Umesh is taller than Satish , Suresh is shorter than Neeraj but taller than Umesh. Who is the tallest among them?
Jaror efor A ciar 3, J291 ofizst A Bler & Afdpor 3N A ciar 3 Iotd A A cidl Biol 37

[Question ID = 466]

1. Umesh / 3dter [Option ID = 1861]

2. Suresh / For [Option ID = 1862]

3. Satish / rfter [Option ID = 1863]

4. Neeraj / sfizsr [Option ID = 1864]

Correct Answer :-

e Neeraj / oftest [Option ID = 1864]

56) Find out the missing option EGIK: LJHF:: SUWY:?
o faweu sa @2 EGIK: LJHF :: SUWY:?

[Question ID = 467]

1. ZXVT / ZXVT [Option ID = 1865]

2. TVXZ / TVXZ [Option ID = 1866]

3. LNPR / LNPR [Option ID = 1867]
4. MOQS / MOQS [Option ID = 1868]

Correct Answer :-

® ZXVT / ZXVT [Option ID = 1865]

57) Rajiv is the brother of Atul. Sonia is the sister of Sunil. Atul is the son of Sonia. How is Rajiv related to Sonia?
ISTA 31cIel DI HIS & Alfor oflcT Dl G801 & 31T AlforR DI der1 3 Isila Alfori A HA Adfdra 3?7

[Question ID = 468]

1. Nephew / siism [Option ID = 1869]

2. Son / yq [Option ID = 1870]

3. Brother / e$ [Option ID = 1871]
4. Father / fien [Option ID = 1872]

Correct Answer :-

e Son / yq [Option ID = 1870]

58) The longest river of peninsular India is
JRISIHRT sied &bt T cidl o1t 3

[Question ID = 469]

1. Krishna / ggeom [Option ID = 1873]

2. Kaveri / @3t [Option ID = 1874]

3. Narmada / swfar [Option ID = 1875]

4. Godavari / sicradt [Option ID = 1876]

Correct Answer :-

e Godavari / siierast [Option ID = 1876]

59) At a ticket counter there are 17 persons in a queue. If every second person in the queue is a female and also in the
starting and the end there is a female, then the total number of males in the queue is

T fewe PR U v wdrR d 17 e 3 ale wdr d & ¢RI <Aaftp we Afden 3 siiv 9Band sii? sia d off vo afden 3, d war i gzl oI
@l AT &

[Question ID = 470]

1. 7/ 7 [Option ID = 1877]



2. 10 / 10 [Option ID = 1878]
3. 8/ 8 [Option ID = 1879]
4. 9 /9 [Option ID = 1880]

Correct Answer :-
e 8/ 8 [Option ID = 1879]

60) Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
aba_baca_ba_bacaabac_aca

Dlol AT R AIYE HARICT U= DI WU A A SIiel U= I 315 3G 9jzactt I Yr wwn? aba_baca_ba_bacaabac_aca
[Question ID = 471]

1. cacb/cachb[OptionID = 1881]

2. ccab/ccab [Option ID = 1882]

3. cabc/cabc[Option ID = 1883]

4. abcc/abcc[Option ID = 1884]

Correct Answer :-
e cacbh/cachb [Option ID = 1881]

61) Choosing a number similar to a group of number 45, 54, 63
Jzcar 45, 54, 63 @ s D ATl AT Joi

[Question ID = 472]

32 / 32 [Option ID = 1885]

55 / 55 [Option ID = 1886]

18 / 18 [Option ID = 1887]

64 / 64 [Option ID = 1888]

A w N =

Correct Answer :-
e 18 / 18 [Option ID = 1887]

62) Mr. and Mrs. Gopal have 3 daughters and each daughter has one brother. How many persons are there in the family?
off 3ii= offerctl shiurer &t 3 dfe=n 3 3iiz 32 I¢ @1 vp 9 3 ulkar 3 fpaor cafep 37

[Question ID = 473]

1. 5/ 5 [Option ID = 1889]

2. 6/ 6 [Option ID = 1890]

3. 7/ 7 [Option ID = 1891]

4. 8/ 8 [Option ID = 1892]

Correct Answer :-
e 8/ 8 [Option ID = 1892]

63) Nankana Sahib Gurdwara is situated in which country?
fepa1 Sor 3 olorpTon AR BRI e 37

[Question ID = 474]

1. India / sma [Option ID = 1893]

2. Pakistan / ufepzamt [Option ID = 1894]

3. Nepal / awrer [Option ID = 1895]

4. Bhutan / sret [Option ID = 1896]

Correct Answer :-
® Pakistan / uifdsarer [Option ID = 1894]

64) When is the World Population Day observed?
fera SoRize &t d doIRN SIrer 37

[Question ID = 475]

1. 11th July / 11 ger [Option ID = 1897]

2. 5th July / 5 geng [Option ID = 1898]

3. 5th June / 5 gt [Option ID = 1899]

4. 21st June / 21 Sgat [Option ID = 1900]

Correct Answer :-
e 11th July / 11 gerg [Option ID = 1897]

65) Sultan Azlan Shah Cup associated with
Jedrel 3ISIcIIol 96 U forgol 3 3 Ub o AT ST T3MT &
[Question ID = 476]

Wrestling / @odt [Option ID = 1901]

Football / gedfer [Option ID = 1902]

Hockey / bt [Option ID = 1903]

Golf / sitew [Option ID = 1904]

A WN =

Correct Answer :-
e Hockey / it [Option ID = 1903]



66) Six Persons A,B,C,D,E, and F are standing in a circle, B is in between of F and C. A is in between of D and E , F is the
left of D. Who is between A and F?

seaftc A, B,C, D, E,sikForoaniwasd FaiRCddaB3, DIREddaAd Ddarfsir F2E Ak F & dia ola 8?7
[Question ID = 477]

1. B/ B [Option ID = 1905]

2. C/ C [Option ID = 1906]

3. D/ D [Option ID = 1907]

4. E/ E [Option ID = 1908]

Correct Answer :-

e D/ D [Option ID = 1907]

67) Complete the sequence B-1, D-2, F-4, H-8, J-16, __?
9fzaen @1 Q31 @2 B-1, D-2, F-4, H-8, J-16, __?__

[Question ID = 478]

1. K-64 / K-64 [Option ID = 1909]

2. L-32 / L-32 [Option ID = 1910]

3. M-32 / M-32 [Option ID = 1911]

4. L-64 / L-64 [Option ID = 1912]

Correct Answer :-
e |-32/ L-32 [Option ID = 1910]

68) Which classical dance is famous in Tamil Nadu?
afdrcronts, A @il AT IR fc YRIg 37

[Question ID = 479]

. Kuchipudi / sfigst [Option ID = 1913]

. Mohiniattam / aiifgeflarear [Option ID = 1914]

. Bharatanatyam / srdeiczer [Option ID = 1915]

. Kathakali / @emcit [Option ID = 1916]

A w N =

Correct Answer :-
e Bharatanatyam / srdonczier [Option ID = 1915]

69) Tansen, a great musician of his time, was in the court of -
3Gl VBRI D Halol HofladR, dreRidl foldsl @ gear 3 o -

[Question ID = 480]

. Akbar / smpaz [Option ID = 1917]

. Shahjahan / emsstet [Option ID = 1918]

. Bahadur Shah / @@rgz ens [Option ID = 1919]

. Jahangir / Ssisfiz [Option ID = 1920]

A w N =

Correct Answer :-
® Akbar / smpaz [Option ID = 1917]

70) 'Madhubani’, a style of folk paintings, is popular in which of the following states in India?
el Rl &1 9iedl, "Agaoll’ sira o forafeiRaa & A v s 3 dioft 3?7

[Question ID = 481]

. Uttar Pradesh / 3@z ggear [Option ID = 1921]

. Rajasthan / Jerere [Option ID = 1922]

. Madhya Pradesh / a1 yger [Option ID = 1923]

. Bihar / f&@r [Option ID = 1924]

A WwWN =

Correct Answer :-
e Bihar / f@r [Option ID = 1924]

71) Who is known as 'the father of Indian missile technology'?
o521 "uRdRI RBrisa Yienfb! & Sioid’ @ U 3 SIiell STl 37
[Question ID = 482]

Dr. U.R. Rao / sf. gam. 2ra [Option ID = 1925]

Dr. A.P.J. Abdul Kalam / sf. edt.3l. sreger @wemt [Option ID = 1926]

Dr. Chidambaram / Sf. fRige=za [Option ID = 1927]

Dr. Homi Bhabha / t. 3wt smemm [Option ID = 1928]

A WN -

Correct Answer :-
e Dr. A.P.J. Abdul Kalam / Sf. wdt3L. steger wemar [Option ID = 1926]

72) B.C.Roy Award is given in the field of
dl2ft3i yreor o & 3 R sirar 37
[Question ID = 483]

. Journalism / uqgaif¥ar [Option ID = 1929]

. Medicine / smyfdsier [Option ID = 1930]

. Music / Zwfta [Option ID = 1931]

. Environment / ararazor [Option ID = 1932]

A WN -



Correct Answer :-

e Medicine / smjfdsier [Option ID = 1930]

73) In India When the longest day observed?
HRA 3 AR clar ot e arar 37

[Question ID = 484]

1. December 22 / 22 &z [Option ID = 1933]

2. June 21 / 21 et [Option ID = 1934]

3. August 21 / 21 serea [Option ID = 1935]

4. September 22 / 22 fRdsaz [Option ID = 1936]

Correct Answer :-
e June 21 / 21 Sat [Option ID = 1934]

74) Who has been appointed as the new Law Minister in India?
R I o1 Plofol dicfl D WU I B forged v srRi 37

[Question ID = 485]

. Kiren Rijiju / f53a1 DR [Option ID = 1937]

. Anurag Singh Thakur / sioRmr Bis oz [Option ID = 1938]

. Ashwini Vaishnaw / sif*aoft dwra [Option ID = 1939]

. Hardeep Singh Puri / &xlu Ris gst [Option ID = 1940]

A WN =

Correct Answer :-
e Kiren Rijiju / fv3or RfSsg [Option ID = 1937]
75) Which country is scheduled to host the 2023 ODI World Cup?
@lot AT 391 2023 vopfeaRik fara wu & dstarcil wor arer 3?7
[Question ID = 486]
. New Zealand / s¥sficis [Option ID = 1941]
. Australia / siizgfern [Option ID = 1942]
. India / sma [Option ID = 1943]
. South Africa / afémr st [Option ID = 1944]

A W N -

Correct Answer :-
e India / sma [Option ID = 1943]

76) What is the main theme for International Yoga Day 2021?
siaRisdRr et a1 2021 o1 Jgo faerr =i 3?7

[Question ID = 487]

. Yoga for health / ¥area o femw s [Option ID = 1945]

. Yoga for well-being / @ec=mur & fere =t [Option ID = 1946]

. Yoga for good health / 38 ares @ few et [Option ID = 1947]

. Yoga for longevity / dafy @ fere @t [Option ID = 1948]

-

A w N

Correct Answer :-
® Yoga for well-being / @c=mur @ fere et [Option ID = 1946]

77) Who has become the youngest-ever Chess Grandmaster in history?
sicBrRT 3 A DA R D IS SHRCI Diol dol 37

[Question ID = 488]

. Pratyush Chaudhary / grgu <iert [Option ID = 1949]

. Abhimanyu Mishra / sifdmisg firgn [Option ID = 1950]

. Stanley Jacob / ¥¢oreft Sipa [Option ID = 1951]

. Abhyudey Pandey / 318gc uws [Option ID = 1952]

A W N -

Correct Answer :-
e Abhimanyu Mishra / sif8erey fdieg [Option ID = 1950]

78) Which state has approved 5 major steel-making projects worth Rs 1.46 lakh crore?
fop21 3531 ot 1.46 o BAs U & 5 gga seura-foriior ufRitsiensit @l Fis & 37

[Question ID = 489]

. Maharashtra / ssrrg [Option ID = 1953]

. Telangana / dciemen [Option ID = 1954]

. Madhya Pradesh / are=r gger [Option ID = 1955]

. Odisha / afSan [Option ID = 1956]

A W N -

Correct Answer :-

e QOdisha / siifem [Option ID = 1956]

79) veteran politician Virbhadra Singh passed away on July 8, 2021. He had served as the Chief Minister of which state for
six terms?

wRIY.g Astoliferst dizeig Riz @I 8 sfers, 2021 @l forerel 8l o d ®8 AR b Isa D FFAHG D 37U i DRIza a?

[Question ID = 490]



Uttarakhand / s@rds [Option ID = 1957]
Himachal Pradesh / f&smraet ygar [Option ID = 1958]
Uttar Pradesh / 3= ggar [Option ID = 1959]
Rajasthan / Imremer [Option ID = 1960]

A WN -

Correct Answer :-
e Himachal Pradesh / f@araet ygor [Option ID = 1958]

80) Who won Wimbledon Men'’s singles title 2021?
ool fdactset yay uave Radara 2021 siiar?

[Question ID = 491]

Novak Djokovic / sitar® Sitaifaa [Option ID = 1961]

Roger Federer / 3sr ws22 [Option ID = 1962]

Rafael Nadal / Jwreet otstet [Option ID = 1963]

Matteo Berrettini / amesit &fsft [Option ID = 1964]

A W N -

Correct Answer :-
® Novak Djokovic / sirare siaifera [Option ID = 1961]

81) Which payment system has been barred from issuing new cards from July 22?
22 Sier$ A oA yordrel Yulicil @l 61g 1S Sl @l A A {1 srm 37

[Question ID = 492]

. Visa / drar [Option ID = 1965]

Mastercard / siez @1 [Option ID = 1966]

Rupay / 3t [Option ID = 1967]

None of these / soui 3t @IS aiél [Option ID = 1968]

N

A w N

Correct Answer :-
® Mastercard / @mez @rs [Option ID = 1966]

82) Mirabai Chanu won silver at Tokyo Olympics in the women’s 49-kg category of which sport?
Hierarg argy of Aasil silciftres 3 fap2r Ter &t aifdem 49 fovoy Yuft 3 -1 ucw Shian?

[Question ID = 493]

Wrestling / @godlt [Option ID = 1969]

Weightlifting / smidictor [Option 1D = 1970]

Boxing / sja@arsit [Option ID = 1971]

Shooting / gifést [Option ID = 1972]

A W N -

Correct Answer :-
e Weightlifting / smxdicrar [Option ID = 1970]
83) Drug used to treat Hypocalcemia is
BEUIDRIRRI @ scIrst @ fére sdre & Sl arcil car &
[Question ID = 494]

Atenolol / wesiiciier [Option ID = 1973]

Predinosolone / Jf3airdicilor [Option ID = 1974]

Nitroglycerine / smsifScrisior [Option ID = 1975]
Calcium gluconate / @fe¢ormr segplole [Option ID = 1976]

A w N =

Correct Answer :-
e Calcium gluconate / ®feormt sefmioie [Option ID = 1976]

84) According to MTP act the following are indications for terminating pregnancy before viability except
wadidl sif2rforaa @ srofAR forgorfeRaa caasriar @& yd smifazen @l JdAH @l @ iwotfeilRaa sdda 3

[Question ID = 495]

Severe cardiac disease / sisflz g et [Option ID = 1977]

Chromosomal abnormality / SRt sriemeRIar [Option ID = 1978]

Pregnancy due to rape / deircabrz @ wrur sisifazer [Option ID = 1979]

Unplanned pregnancy / siforifSia sisifazen [Option ID = 1980]

A w N =

Correct Answer :-

e Unplanned pregnancy / siforiifSia swrfazen [Option ID = 1980]
85) International Nurses Day Celebration is on:
iRl o foawt @1 ud forger o1 uz HoIrN ST 3:
[Question ID = 496]

1. 5th September / 5 Ridaz [Option ID = 1981]

2. 7th April / 7 aiet [Option ID = 1982]

3. 1st December / 1 f&3f@z [Option ID = 1983]

4. 12th May / 12 @ [Option ID = 1984]

Correct Answer :-
e 12th May / 12 3 [Option ID = 1984]



86) MRI stands for

QBRSNS I 31ef &

[Question ID = 497]

Magnetic Resonance Imaging / dwaifeds diierer safier [Option ID = 1985]
. Magnetic refer image / dwaifew w2 sdst [Option ID = 1986]

Multi Resonance identify / aiect Rilete smssfewrs [Option ID = 1987]

. None of these / sowi 31 1S a8t [Option ID = 1988]

A w N =

Correct Answer :-
® Magnetic Resonance Imaging / dolfed ilolot sdifsisr [Option ID = 1985]

87) Japanese Encephalitis (JE) is a/an:
SIureii veAwasea () 3:

[Question ID = 498]

1. Liver disease / @ &t et [Option ID = 1989]
2. Brain disease / #omt &l dlest [Option ID = 1990]
3. Lung disease / Bws &l diadt [Option ID = 1991]
4. Eye disease / ol 31 [Option ID = 1992]

Correct Answer :-
® Brain disease / #wret &1 dlaist [Option ID = 1990]

88) The vitamin supplement provided for patients taking INH as part of their antituberculosis regime is

IATETOITT Dl ol AUfSD ALkt 9Tel D f33=1 B U & ciol arcl ABRI D fre ygrot v s frerfier geos 3

[Question ID = 499]

1. Riboflavin / Jsdweifyer [Option ID = 1993]

2. Niacin / fornfR3ret [Option ID = 1994]

3. Pantothenic acid / Tefdfed swer [Option ID = 1995]
4. Pyridoxine / w1 [Option ID = 1996]

Correct Answer :-
® Pyridoxine / a1 [Option ID = 1996]

89) An employee receiving orders from only one superior is called
Dact Tp af¥ss A ST I B dict Dearsl Bl Bal Sl &

[Question ID = 500]

1. Hierarchy / smar [Option ID = 1997]

2. Span of control / foriqur &t safér [Option ID = 1998]

3. Unity of command / auder &t eeiar [Option ID = 1999]

4. Delegation of authority / siférRt @1 faddtas2ur [Option ID = 2000]

Correct Answer :-
e Unity of command / anger &bt 3wmerar [Option ID = 1999]

90) Fetal bradycardia can be caused by

9JUT dicolrSl forFol B BRI 31 ADI 3

[Question ID = 501]

1. Maternal or fetal infection / s = 8pur Jicgaror [Option ID = 2001]
2. Maternal or fetal anemia / a1 =1 8ju1 Icprcuar [Option ID = 2002]
3. Fetal heart defects / spur &5 g [Option ID = 2003]

4. None of these / so@i 3 @IS arét [Option ID = 2004]

Correct Answer :-
e Fetal heart defects / g1 @ga1 gtw [Option ID = 2003]

91) Temporary or permanent measures designed to prevent pregnancy from unprotected sexual intercourse is called
SRIABIA HeIST A ST9{EIUT B Aol D fIU Folre 31U Rl Ar Ferft Suril ®1 el Sidar 3

[Question ID = 502]

1. Fertility planning / gsiorer istem [Option ID = 2005]
2. Contraception / swfferrer [Option ID = 2006]

3. Infertility / sismet [Option ID = 2007]

4. Fertility control / ygieter foricur [Option ID = 2008]

Correct Answer :-
e Contraception / smiforter [Option ID = 2006]

92) Hyperemesis gravidarum is characterized by
siferasrer fraviciisvor &t fadraar 3
[Question ID = 503]

1. Fluid and electrolyte imbalance / ga 3li? sclaqietise 3ridetel [Option ID = 2009]
2. Severe nausea and intractable vomiting / sisfis acctt siiz srmer 3c<t [Option ID = 2010]

3. Sign of pregnancy / swifazen @i ida [Option ID = 2011]
4. Psychological problems / seildsiféra J#=me [Option ID = 2012]



Correct Answer :-
® Severe nausea and intractable vomiting / sisfiz #cctt siiz srmer 3c<t [Option ID = 2010]

93) A type of abortion in which the products of conception are only partially expelled is called
U YbR @I ansfura Sradl smsifenrst d Icurgl ol ddct siifdrd wu A foremiRia s Sirdr 3, dacirn 3
[Question ID = 504]

1. Threatened abortion / 3iemfde sefurea [Option ID = 2013]

2. Inevitable abortion / smfsarf swfura [Option ID = 2014]

3. Incomplete abortion / st swstura [Option ID = 2015]

4. Missed abortion / fawet swfura [Option ID = 2016]

Correct Answer :-
® [ncomplete abortion / sregRrsmwiura [Option ID = 2015]

94) An autosomal recessive disorder resulting in a deficiency of the liver enzyme phenylalanine hydroxylase is called
sfePRI el R firids uf¥vierasu ciar dsirsa Bisicucfore arssifiRicss &t @it 31 Sl 3, 3 el ST &

[Question ID = 505]

. Maple syrup urine disease / duet Bru g 31 [Option ID = 2017]

. Phenylketonuria / fisemset Sictgf¥n [Option ID = 2018]

. Klinefelter syndrome / aeciseidee? RBigwr [Option ID = 2019]

. Turners syndrome / cofz Bigier [Option ID = 2020]

-

A w N

Correct Answer :-
e Phenylketonuria / fserser bicigyfn [Option ID = 2018]

95) Neural tube defect can be prevented by Preconceptional supplementation of
dfeer cgg S @l _____ & ygd snferrur GRI AdT S Adbdl 3

[Question ID = 506]

. Folic acid / wifers vRs [Option ID = 2021]

. Fatty acid / & ofis [Option ID = 2022]

. Amino acid / eférill eRrs [Option ID = 2023]

. Ascorbic acid / vx@ifda s [Option ID = 2024]

A W N -

Correct Answer :-
e Folic acid / wifere ul¥s [Option ID = 2021]

[Question ID = 507]

. Role in blood clotting / ¥ e 3 gfdrpt [Option ID = 2025]
. Anticoagulant / era@rieft [Option ID = 2026]

. Role in vision / efe 3t gifdrer [Option ID = 2027]

. Antioxidant / wdiiiferse [Option ID = 2028]

A W N -

Correct Answer :-
e Antioxidant / edsiffd=ise [Option ID = 2028]
97) Which of these is found in abundance in banana?
el A g AL A a=—I URI ST 37
[Question ID = 508]
. Zinc / i@ [Option ID = 2029]
. Astatine / %&dtet [Option ID = 2030]

. Copper / @amg [Option ID = 2031]
. Potassium / diéfermr [Option ID = 2032]

A w N =

Correct Answer :-
® Potassium / uiférmr [Option ID = 2032]

98) The inner layer of the stomach wall is called as
tc &l Slar &t siiaf¥e usd &I dal ST 3

[Question ID = 509]

. Ectoderm / arar ea=n [Option ID = 2033]

. Mucosa / &y@ri [Option ID = 2034]

. Epithelium / 3uaen [Option ID = 2035]

. Duodenum / urdetic] [Option ID = 2036]

A w N =

Correct Answer :-

® Mucosa / s=y@rRu [Option ID = 2034]

99) Deficiency of which vitamin can cause peripheral neuritis?
fop21 fare1fior 6t ot A ufeli=r opRsRA 3 wAwar 37

[Question ID = 510]



Vitamin B1 / Rerfaor €t 1 [Option ID = 2037]
Vitamin B12 / Rictfirer «ft 12 [Option ID = 2038]
Vitamin B6 / Rietfiter «ft 6 [Option ID = 2039]
Vitamin B9 / Ricifiter «ft 9 [Option ID = 2040]

A WN -

Correct Answer :-
e Vitamin B12 / ferfdar €t 12 [Option ID = 2038]

100) Which of the following is required to prevent a birth defect called spina bifida?
Tursoll fAfbsT ol Stod SIY @Y Aol @ fore forget 3 A bl sragman axcdt 37

[Question ID = 511]

Vitamin D / Rrerror €t [Option ID = 2041]

Vitamin A / fderfdter © [Option ID = 2042]

Folic Acid / wifere ofrs [Option ID = 2043]

Vitamin E / fderfdter 5 [Option ID = 2044]

A W N -

Correct Answer :-
® Folic Acid / wifér eRs [Option ID = 2043]
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